N = 0l & AF & F Al A

=8s
E8s At
FORME HARY L BHOAL X (Er9): &2
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
= 384,391 451,841 AB7,450
S8S At 3| 276,167 364,558 88,391
FOTXNE WA2E & BHYAIL K& 130,947 195,088 N64, 141
FUNXEH 29 67,980 63,124 4,856
201 LEHRHH| 67,980 61,124 6,856
01 AtR2eldl 67,980 61,124 6,856
OFUXXdEH=2H 67,980,000& 67,980
FLEHOIAIE K& 62,967 131,964 268,997
201 ZEH2IH] 30,067 21,064 9,003
02 =229l 30,067 21,064 9,003
O&FA ROIBHIAAY E9=
361,000& 123 4,332
OxXgeEgz ¥ KXY 4,000,000& 4,000
OFAAZHI 10,000,000 10,000
O&F AIRXIHI 5,000,000& 5,000
O&st==HZ 400,000& 400
OXg®Fl 5,000,000& 5,000
OF ALY HEF U A AHHI 800, 000& 800
OFAMAMIEHIEH 2 200,000 200
OANESEINEREE = 200,000& 200
OS2l 2edst2el =R 50,000& 50
O4 Y2/l 85,000& 85
203 YSRF&H| 3,100 2,500 600
03 AMFAARFXY| 3,100 2,500 600
OSHIRAIMFA 3,100,000& 3,100
301 YBtEa= 2,800 1,400 1,400
09 ZSUZIRRABLEZ 2,800 1,400 1,400
OAzl =208 ZAZ2REA 2,800
-SAlH| 5,000 x2%H 280 2,800
401 Al&HIZ 20 27,000 107,000 280,000
01 A&t 27,000 107,000 A80,000
OsFRHEH XIotAIR A SHEIHE S A
22,000, 000& 22,000
OX&EeE2E dXI3A 5,000, 000& 5,000
sSclotE s 125,220 125,220 0
ScletdsE4 R 125,220 125,220 0
301 Lptsazg 125,220 125,220 0
05 &-cl-tEassads 125,220 125,220 0
Os&=¢ 200,000 »34H =122 81,600




FN: =S
¥ 2 S M3
el SeUREEBA ol & @
M- B SR(B) - HRAY - BE S Ak e 2
OR=FS Pt b= 200,000& *34H x23] 13,600
OF=FSgeiiclb=gopat=y 20,000 34 123 »23| 16,320
Oet& &S| 50,0003 *x274% *13] 13,700
s OS2 22 20,000 44,250 A24,250
2= Ot 2l 20,000 44,250 A24,250
201 ZBH2EH] 20,000 32,140 212,140
02 232934l 20,000 32,140 212,140
OZdsh=2H3| 2R Xl 20,000, 000& 20,000
HY2HHH(EES) 108,224 87,283 20,941
QIHARHH(EES) 48,344 27,805 20,539
HNEoAE(ESES) 38,304 18,325 19,979
101 QIZH| 38,304 18,325 19,979
09 RIAHAZZXNE =S 38,304 18,325 19,979
OF A2 gECIRY 19,715
-Jl23 734,800 x 1«12 8,818
-&03 8,817,600 %1/3 2,940
-A2t2l =S 6,330« 1H«22A| 2t+ 123 1,672
-5222=E 50,6403 x1H+2L « 123 1,216
-AXtsaSr 33,7603 1H+17 574
=54 33,7603 x1H «b2=F 1,756
-Jtetga 8,817,600 *12% 1,059
- M ZAlY| 80,000 x1H « 123 960
-~wWEE LI 60,000 x1H« 123 720
Ozgs U=sdg|2F A2 2N 18,589
-Jleas 734,800& x1E+12& 8,818
-a0= 8,817,600 %1/3 2,940
-ANZ2Hel =S 6,330 x 1H »22A| 2tx 12 1,672
-ReI2RE 50,6403 x1H 2 x 122 1,216
ESPNE = Eod =y 33,760 x1H « 15 507
-S54 33,7603 1«52 1,756
- M ZAlY| 80,0003 1H«12& 960
-wWEE 2| 60,0003 x1H«12& 720
EAAU(ESS) 10,040 9,480 560
203 YRFL&Y| 10,040 9,480 560
01 JI22dPR=8H| 6,600 6,000 600
OJ22Z g2 =48l 6,600,000& 6,600
02 JAIIHRFEI 440 480 A 40
OZF AN HRF A 40,000 11 440
04 REN2IIRZ=EHI 3,000 3,000 0
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